Consolidated Accounting — Chester Bank Example

Chester Bank is a mid sized Canadian bank with total unconsolidated assets of
3,7 12. The bank’s core market is Ontario where a complete line of financial products are

offered

Chester Bank also provides retail banking services to is clients through its
wholly owned subsidiary, Zeus Bank. Chester Bank manages the savings and wealth of
its retail customer base through traditional banking products plus trust products from

Jazz Trust Company, which it controls to the extent of 65 per cent.

Chester Bank is in a joint venture with one other Canadian bank with which it

shares equally. Brandy Investment Management Company offers financial

management services to companies and institutions.

Chester Bank owns 25 per cent of the votirig shares of Muggins Finance

Company and has representation on Muggins’s Board of Directors.

- The unconsolidated financial staterhents of Chester Bank, Zeus Bank, Jazz
Trust Company, Brandy Investment Management and Muggins Finance Company

e presented on the next page.

Chester Bank’s Chief Financial Officer has asked you to determine the
appropriate consolidation method for each participation and to prepare a consolidated

balance sheet for his review.
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ASSETS ' _ |
‘ Caéh resources ' i 100 75 100 . 100 40
Securities , . 700 215 300 ' 516 80
Loans , 2,300 1,750 2,050 - 800
Due from related companies 400 - 450 : - oo- -
Shares in subsidiaries 117 - - - -
- Investment in Joint Venture 20 - - - -
v || Other ' 75 125 40 26 10
3,712 2,615 2,490 642 030
LIABILITIES
Deposits 2,537 1,900 2,100
Amounts due to related cos - 450 400 o -
Other 400 200 250
Share Capital 225 65 80
Reserves ‘ ‘ _ 100 - 50 60

3,712 2,615 2,490




Consolidated Accounting

Chester Bank Example ’ : Adjustments
Solution Chester | Zeus Jazz Consol | Brandy | Muggins | Total
Bank Bank Trust (Subs) | Investment | Finance |Consol

Company Mgmnt | Company

ASSETS

Cash resources 100 75 100 275 50 _ 325

Securities 700 215 300, 1,215 258 - 1,473
Loans ' 2,300 1,750 2,050 6,100 : - : - 6100
Joint Venture 20 - - 20 (20) ~ - -
Other , 75 125 - 40 240 13 - 253
3,195 2,165 2,490 7,850 301 - 8,151
YL Amts due from related 400 450 - -
\_S;hares i subs 117 ‘ :

3,712 2.615 2,490

LIABILITIES

Deposits

Other

Minority interests
Share Capital

Reserves

1 Amts due to related
Share capital of subs

Chester Bank — Parent

Zeus Bank — 100% owned subsidiary

Jazz Trust Company — 65% owned subsidiary (minority interest)
Brandy Investment Management — 50% joint venture (pro-rata)
Muggins Finance Company — 25% equity investment (securities)
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Exercise No. 1

e Please see the attached chart and financial data.

s These show that Bank A owns 100% of Bank B. Bank B has a head office and two

branches.
!

e Bank A also owns 10% of the shares in Travel Agency Ltd. Bank A carries these
shares in its balance sheet at cost (since the shares are unquoted and their fair value
cannot be reliably measured). :

‘s Starting with column (1) on the worksheet, use the chart and financial data to

compute the consolidated balance sheet of the Bank A group.

» Please complete the worksheet in the working groups and choose a person to present
your group’s response during the plenary session.

Attachments:

- chart: Exercise 1- the Bank A group
- financial data for Bank A and Bank B
- Exercise 1 worksheet



Exercise 1. the Bank A group

10% 4 | | 100%

~ Travel Agency . -  BankB |

OSFI International Advisory Group



Exercise 1: financial data’

¥

Bank A
Loans 300 | Deposits 351
Investment in Travel ) ‘
Agency (10%) . 1|Borrowings 90
Investment in Bank B 80 | Share capital 40
Other assets ' 100 | Reserves -
Total . 481 | Total 481
Bank B head office
Branches ' 30 | Deposits 200
Loans 150 } Borrowings 50
Buildings 50 | Share capital ' 80
Other assets 100 | Reserves -
Total 330 Total ) : 330
Bank B branch 1
Cash 10| Deposits 50
Loans ‘ 60 | Head office : 20
Total ’ 70| Total : - 70
Bank B branch 2
Cash . 20| Deposits 50
Loans 40| Head office 10|
Total] 60| Total 60
Travel Agency Ltd (10%)
Cash 10§ Creditors - 30
Debtors 20 | Share capital 10
Building - : 30| Reserves : : 201
Total -~ 60 | Total ' 60

_' All figures are in thousands of Local Currency Units (I.CUs)

OSFI International Advisory Group
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-Exercise No. 2

Exercise 2 involves two phases of consolidation. There is a separate worksheet and data
for each phase.

-

Inthe working groups, please complete both worksheets, starting with the figures in

column (1) of the worksheet for phase 1. The figures in column (1) are the answer to
exercise 1.

Use LAS methods of consolidation. Remember that uniform accounting policies should
be applied to entities which are being consolidated.

Please designate a person to present your group’s response during the plenary session.

The first phase

The object of the first phase is to compute the fully consolidated balance sheet of
Bank A. This is necessary because some of Bank A’s assets were not separately
disclosed in its balance sheet for exercise I.

These assets are three ungquoted equity investmént_s (which were included in the item
“other assets” in exercise 1) and a loan by Bank A to one of these companies (included
among “loans” in exercise 1).

Please note that Kuala Lumpur Securities I.V. is a 50/50 joint venture in Malaysia in
which Bank A and its partner have equal capital participation and voting rights: see
IAS 31. '

Bank A’s policy is to revalue buildings regularly to current market value.
Please use the following attachments:
- exercise 2: chart for the first phase.

- financial data for exercise 2, first phase
- worksheget for the first phase



Exercise 2: Financial data for the first phase

Bank A (revised answer to exercise 1)

Cash 30| Deposits 651
Loans | 520 Borrowings 140
V'Loan to Finance Company 30{ Share capital 40
Investment in Travel Agency* 1| Reserves -
v Investment in Finance 30
Company*
Investment in Mortgage Bank* 30
VInvestment in Kuala Lumpur
Securities J.V.* 5
Buildings** 504
Other assets 135
Total 831| Total §31
* at cost ** at market value
Mortgage Bank (45% owned)
Loans 300] Deposits 390
Other assets 190] Share capital and reserves 100
Total 490] Total 490
Kuala Lumpur Securities J.V. (50% owned)
.Trading portfolio 60| Borrowings 140
Other assets 160 Share capital 10
Reserves 70
Total 220 Total 220
Finance Coinpany (100% owned)
Buildings*** 10] “Loan from Bank A 30
Other assets 140| Other liabilities 70
- | \/Share capital 30
Reserves 20
Total 150 150

*%* at cost; current market value: 15.
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The second phase

Begin this after completing the worksheet for phase 1. In this phase you learn that Bank A belongs
(100%) to a larger banking and financial group which is headed by a company calied Financial Holding
Company. The object is to compute the consolidated balance sheet of this wider group. Your answer
for the first phase should be entered in column (2) on the worksheet for this phase.

Please use the attachments:

exercise 2: chart for the second phase
financial data for exercise 2, second phase
worksheet

)

'
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Exercise 2: Financial data for the second phase

Finance Holding Company

Investments (at cost) in: Borrowings 1,500
Bank A (100%) 40 Share capital 1,000
Bank C (85%) 85 Reserves -
Hong Kong Leasing {30%) 25
Brokerage Firm (20%) 5
Bank D (10%) 125
Other companies 1,700

Total investments 1,980

Other assets 520

Total 2,500 | Total 2,500

Bank C (85% owned) :

Loans 450 | Deposits 500

Investment in Shoe Factory 50 | Share capital 100

Other assets 100 | Reserves -

Total 600 | Total 600

Hong Kong Leasing (30% owned)

Leasing operations Borrowings 300

Outstanding amounts 400 { Share capital 100

Less provisions (50) | Reserves (50)

Total 350 | Total 350

Brokerage Firm {(20% owned)

Debtors ' 150 | Liabilities 100
Share capital and reserves 50
Total assets 150 | Total liabilities 150




AljunoD swoH

oseyd puodss 1o} Heyy g 8siosex3




5

N\ . U

910'Y . 1oy 01- " oy gg- 009 90s'c OF 901 0osz je304,
3 . S - e ¢+ - 515219103 AJLIOULN
0L g c9 01- L. SL <L T 'S9A1959Y
0001 0001 0001 . 001~ 001 0001 O Ot 0001 jejides a1Byg
0L ) 0L ‘ ’ 0L oL 0L S2U[IqRI] 13100
01L1 01L1 0lLI - 0lLl 01T 0051 sguIm0.10g
1611 . < LIl Gt 00% (59 (59 : spsodaq
santiqe]

9i0'¥ <+ . 110% Ol- 120y £8- 009 90¢°C Ot 9101 00ST {214
0SLE 0SL1 0SLL 0¢ 00L1 0041 SIUSWISAAUT 120
SLG CLG SLG6 001 $LY o 0zZs §)3sSE J2UI0)
59 ¢9 <9 59 ] g9 ~ sBuipjing
3 - : - Cg- 68 58 D jueg uf "al]
4 ¢zl gzl €zl 4 .  3ueg u] Ayl
- ] - . - - 0t ob v ueg uf "Au]
01 g+ g g < S ‘aFe1adoIg Ut "auj
Sl i 01- 52 ST ST THH ut Au
Sy Sy S . sy 5P Yueg 959eTHOW (AU
I 1 1 1 , 1 © YL URUASIAU]
c 3 1] 0]3 . 0t O1[OJLO ] 2pel],
0L6 0L6 0L6 osy |ozs 0z$ . sueo
0% 0¢ 0¢ 0t 0¢ yse

) (1 aseyd
@D+ (6) + Buisean 9+ {0+ wo.y) 0D
(LY + (o1} | swaw 28w (8) {1} UEN Suoy )+ sjuow (z) + (1)1 suow - | (p,suoo) | Sup|oy S1ISSY
= -isnipy | -evolg = -1snlpy “Buop = asnipy | o yueg = ssnlpy | v oyueg | (mioueul]
(cl) (1) (L) (01) {6) (8) (4) 0 ¢ () {¥) (£) {0 (1)

(¢1) uwnjoy - _c.U SUIP[OY [RIDURULY JO J99YS 2dug[eq paepijosuod o) Suinduiod - aseyd puoddg ay) 10} A3 10MSUY : T 3S1043XY




Exercise No. 2: Notes for Instructors on how to complete the worksheets

First I"hase

Coiu-n.m (1 |

This column (Bank A consolidated) is the solution for Exercise 1. However, column (1) also revéals
certain investments of Bank A which were included among Bank A’s “other assets” and “loans™ in

Exercise 1, but not shown separately there. These are Bank A’s investments in Finance Company
(30), Mortgage Bank (30} and Kuala Lumpur Securities J.V.(5) and its loan to Mortgage Bank (30) .

The chart for Exercise 2 also shows these investments of Bank A {which were not shown onchart 1 for
the sake of simplicity).

Column (2)

The unconsolidated balance sheet of Finance Company should be entered in this column.
Colu'mns (3) and (4)

These two columns deal with the consolidation of Finance Company with Bank A. Column (3)is for
the adjustments which need to be made:

(1) Before any amounts are consolidated, both entities should adopt uniform accounting policies. In
their separate accounts they are valuing buildings differently: Finance Company carries ils
buildings at cost (10) while Bank A is already carrying its buildings at market value (50).
Therefore, as a first step, Finance Company’s buildings should revatued by 5 to market value (15).
This property revaluation means that consolidated reserves have to be increased by 5.

(2) Bank A’s loan to Finance Company (30} is an intra-group transaction and needs to be eliminated
from both assets and liabilities in consolidation.

(3) Bank A’s investment in the share capital of Finance Company is another intra-group position ‘which
has to be eliminated. Bank A carries this asset at cost (30). This asset and Finance Company’s
share capital are both eliminated. '

(4) Finally, according to column (2), Finance Company has reserves of 20. These belong to Bank A
and have to be included in consolidated reserves, Therefore +20 appears as an adjustment to
Teserves.

Column (5)

This column is left completely blank because Mortgage Bank 1s not a subsidiary of Bank A. In the
absence of any other information, a 45% shareholding does not indicate control but does raise a
presumption that Mortgage Bank is an associate of Bank A. It is therefore consolidated vsing the
equity method. '

/6
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Column (6)

This shows the application of the equity method to Bank A’s investment in Mortgage Bank.
Tn Bank A's balance sheet the investment in Mortgage Bank is carried at cost (30). However, using -

equity accounting, the value is Bank A’s share of Mortgage Bank’s net assets. This is 45 (45% x 100 ="

45). An adjustment of 15 is therefore needed to reflect the difference between share of net assets (45)
and cost (30). Accordingly, we increase the value of the investment in Mortgage Bank by 15, and
credit consolidated reserves (a liability) with 15. '
Column (7)

This shows the results of consolidating Mongége Bank by the equity method.

Column (8)

The unconsolidated balance sheet of Kuala Lumpur Securities J.V. should be entered here.

Column (9)

Since KL Securities is a joint venture in which Bank A and a partner share control equally. 1AS 31
requires Bank’s investment to be consolidated using the proportional method.

The necessary adjustments are:

(1) the 50% of KL Securities’ assets and liabilities which do not belong to bank A have to be deducted

(2) Bank A’s investment in the share capital KL Securities (5), and KL Securities’ entire share capital
(10) should both be eliminated

(3) only Bank A’s share of KL Securities’ reserves should be in included in the consolidation. KL
Securities has reserves of 70 and these must therefore be reduced by 35 (= 50%). Bank A’s share

of KL Securities’ reserves can also be calculated as Bank A’s share of KL Securities’ nel assets
(40) less the cost of its investment (5).

Column (10)

This shows the fully consolidated balance sheet of Bank A.



N ;

Secoind Phase

Column (1)

The unconsolidated assets and liabilities of Financial Holding Company should b¢ entered here.
Column (Zj

The answer from the first phase - Bank A’s fully consolidated balance sheet - is entered here.
Column (3) |

The consolidation of Finance Holding Company with-Bank A (its wholly owned subsidiary) requires
the elimination of its investment in the bank (40) and the elimination of Bank A’s share share capital

(40).

Column (4)

This shows the balance sheet of Finance Holding Company after ¢onsolidation of Bank A.
Column (5)

The balance sheet of Bank C should beentered here. Finance Hol'ding Company owns 85% of the

shares in Mortgage Bank. This means - in the absence of any information to the contrary —that it i1s a
subsidiary of Finance holding Company and has to be fully consolidated. :

Column-(6)
This shows the necessary consolidating adjustments:

(1) Finance Holding Company’s investment in the share capital of Bank C (85) has to be deducted
from consolidated assets

(2) the entire share capital of Bank C (100} has to be eliminated from consolidated share capital

(3) minority interests of 15 are added to liabilities. These represent the share of Bank C’s net assets
which do not belong to Finance Holding Company .

Column (7)

This shows the balance sheet of Finance Holding Company after consolidation of Bank A and Bank C.

" Minority interests in banks are treated as capital for capital adequacy purposes. Although the minority interests do not
contro] Bank C, they may be able and willing to inject more share capital, if the need arises.

/4



Column (8)

This column is for Hong Kong Leasing which is described on the chart as a joint venture in which
Finance Holding Company has a 30% stake. Participants need to decide the accounting treatment for
this investment. In the absence of additional information, a 30% stake cannot be presumed to give
control and it cannot therefore be treated as a subsidiary. Although the chart describes it as ajoint
venture, it also makes clear that Finance Holding Company does not exercise joint control with its
partner. Consequently, it does not fall within the definition of a joint venture in IAS 31 and cannot be
consolidated using the proportional method. However, the 30% shareholding means that there is a
presumption that it is an associate of Finance Holding Company and it should therefore be censotidated
using the equity method. No figures should be entered in this column.

Column (9)

This shows the application of the equity method to the investment in Hong Long Leasing.

Finance Holding Company’s carries the investment at cost (25) in its own balance sheet. However,
using equity accounting, the value is only 15: this reflects Finance Holding Company’s 30% share of
Hong Kong Leasing’s net assets (30% x 50 = 15). Accordingly, we reduce the value of the investment
in Hong Kong Leasing by 10 to reflect the difference between share of net assets (15) and cast (25).-
Conso'idated reserves are also reduced by 10 on the liabilities side.

Column (10)

This shows the balance sheet of Finance Holding Company after consolidation of Bank A, Bank C and
its investment in Hong Kong Leasing..

Column (11)

The investment in the Brokerage is 20%. Applying IAS means that there is a presumption that it is an
associate and should therefore be valued by the equity method. No figures should be entered in this

column.
Column (12)

This shows the application of the equity method to the investment in the Brokerage. Finance Holding
Company carries this investment in its balance sheet at cost (5). However, using equity accounting, the
value is 10: this refiects Finance Holding Company’s 20% share of the Brokerage’s net assets (20% x
50 = 10). Accordingly, we adjust the value of the investment in the Brokerage by 5 from cost (5) to net
asset value (10). We also credit consolidated reserves with 5. :

Column (13)

This shows the fully consolidated balance sheet of Finance Holding Company.



Exercise 2: worksheet for the First phase: computing the fully consolidated balance sheet of Bank A (¢column 10)

C R

ASSETS

Bank A

consolidate
fal

{answer from
exercise 1)

()

Finance
Compan
Y

Adjust-
ments

(H+@)+
(3)

(4)

Mortgage
Bank

(5)

Adjust-
ments

+

(6)

(4)+ (5)+
(6)

)

KL
Securitie
s

&)

-+

Adjust-
ments

©)

Bank A
(fully

consolidated |

)
{H+@)+
9 =
(10)

Cash

Loans

Trade portfolio

Loan to Finance Company

Investment in Travel Apcy
{10%) .

Investment in Finance Co
{100%)

Participation: Mortgage Bank
(45%)

Joint venture: K L Securities
(50%) .

Buildings

Other assets

Total

LABILITIES

Deposits

651

Borrowings

140

Loan from Bank A

Other liabilities

Share capital

Reserves

Total




Exercise 2: worksheet for phase 2: computing the consolidated balance sheet of Financial Holding Company (column 13)

1)

Financial

Holding
Co.

(2)

Bank A
fully
consolid-
ated

()
Adjust-
ments

(4)

(1) e
(2)

(5)
Bank C

(6)
Adjust-
ments

(7

@)+ (5)
+(6)

(8)
Hong
Kong

Leasing

(9)
Adjust-

ments

(10

DN +®)
+(9)

(11)
Broker-
age

(12)
Adjust-
ments

(13)

(10)
+(11)
+(12)

Assets

Cash

Loans

Trade Portfolio

Inv in Travel

Inv in Mort.

invin HK

tnv in

Inv in Bank A

|Inv in Bank D

Inv in Bank C

Buildings

Other assets

Other

Total

LIABILITIES

Deposits

Borrowings

YOther liabilities

Share capital

Reserves.

Minority

Total

W,




Capital Adequacy Calculation Case Exercise No. 3

CORPORATE STRUCTURE
The bank has two regulated subsidiaries:

» awholly owned insurance companjf which is accounted for at its historic cost
of 40, and a 60% participation in a securities firm, recorded at 60.

.Bank

100% | . | 60%
Insurance Company Securities Firm

THE SOLO CAPITAL REQUIREMENTS OF THE BANK AND ITS REGULATED
SUBSIDIARIES.

Requirement Actual
Bank 90 100

Insurance o 25 40
Securities 25 100




QUESTIONS

1.

For the Bank & Insurance Compaiiy

a)- calculate the solo capital surplus/(deficit) for each
b) calculate the capital adequacy at the group leve]
¢) as the regulator, what would you recommend?

Incorporate the participation in the Securities Firm.

a) calculate the solo capital surplus/(deficit)
b) calculate the group capital position using

i) full integration

il) pro rata integration

c) as the regulator, what would you—recdmmend?




. /""\

Solu‘tion for Exercise No. 3
QUESTION 1(2) & 1(b) -

Only know solo capital amounts of entities (actual and requirement) so use risk-based
aggregation method.

Bank Insurance Eliminate Intra- . Group- Wide
‘ Group Holdings Capital

Solo Capital Required 90 25 115
Actual Capital . 100 40 (40) 100
Surplus/ (Deficit) 10 15 - (40) (18)

QUESTION 1(c) Supervisor’s recommendation (double gearing)

¢ Increase capilal of bank.
» Reduce bank’s or subsidiary’s risks.

QUESTION 2(2) & b(i)

Bank Insurance Securities  Eliminate Intra-  Group-Wide
(100%) Group Holdings Capital

Solo Capital 90 25 25 140
Required ’ \

Actual Capital 100 . 40 100 (60)+ (40) = (100) 140
Surplus/ (Deficity 10 15 75 (60)+ (40) = (100) 0

QUESTION 2(b)(ii} — Pro-rata

Bank Insurance Securities  Eliminate Intra-  Group-Wide
: (60%) Group Holdings Capital
Solo Capital - 90 25 15 130
Required
Actual Capital 100 40 60 (60) + ((40) = (100} 100
Surplus/ (Deficit) 10 15 45 (60) + (40) = (100) - (30)
- QUESTION 2(¢)

e Surplus (75) in securities firm compensates for previous deficit (15) at group
level. '

e Full integration regards capital attributable to minority shareholders as available
to group unless supervisor limits inclusion of excess capital.

24



Capital Adequacy Calculation Exercise No. 4

CORPORATE STRUCTURE

Holding Company
(Unregulated)

I
| 100% [ 100% | 100%
Bank Insurance Company  Leasing Company
(regulated) (regulated) (unregulated)

25



SUMMARY BALANCE SHEETS

Holding Company

Assets . Liabilities

Book-value participations: Capital

Bank ‘ 800 Other liabilities (long term loan)
Insurance - 200

Leasing 100

Total 1,100 Total

Liabilities

Loans 900 Capital
Other assets 400 Other liabilities-
Total 1,300 Total

Insurance
Assets ‘ Liabilities

Investments Capital
General reserves
Technical provisions
Total : Total

Leasing
Liabilities
Capital

Other liabilities
Total




(M

Group (consolidated)

Assets ' , Liabilities

Bank loans Capital

Other bank assets ' General reserves
Insurance investments E Other bank liabilities
Leases : Technical provisions
Total - Total

THE SOLO CAPITAL REQUIREMENTS/SOLVENCY MARGINS

Bank

Insurance

Leasing

{(notional capital proxy)

As shown, each of the regulated entities meets their own solo or sector solvency
requirements.




QUESTIONS

1. Caleulate the solvency surplus/(deficit) of the group under: "

a) the building-block prudential approach
b) the risk-based aggregation method

¢} the risk-based deduction method

. ' : : ~ .
2. Determine whether, and explain why, the financial conglomerate is adequately
capitalized on a group wide basis.

3. Whyisthe total deduction method not applicable to this case?




SOLUTION — EXERCISE NO. 4

1(a) Building-block prudential approach (uses consolidated financial statements)

_ Bank Insurer Leasing Group
Capital Required :
(proxy) 100 300 150 550
Actual Capital - - —— 400
. Group deficit (150)

Therefore, the group has a solvency deficit of 150 under the building-block prudential

approach.

!

1(b) Risk-based aggregation method (uses unconsolidated financial statements)

_ Bank | Insurer Leasing | Elimination | Group
Capital .
Required 100 300 150 550
(proxy)
Actual Capital
unconsolidated 800 300 100 (1100) 400
Group deficit (150)

Therefore, the group has a solvency deficit of 150 under the risk-based'aggregation

method.

27
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-2-

1(c) Risk-based deduction method (uses unconsolidated financial statements)

Bank Insurer Leasing
Solo Capital
Required 100 300 150
Actual Capital ‘ 200 300 100
Surplus (deficit) 700 0 (50)
PArent CAPItAl c..overcereeceeccnontiinssisesssississss s snes s sasessanssass s ssstassssssssnss st 300
Deduct: Capital Investments in Dependants ' _
Bank ..o e ettt -800
INSUreT oo, et R 2200
LBASIINIZ ..ttt U -100
Substitute Dependants’ Surplus or (Deficit)
BT oot e e 700
IESUTEE oottt et ea et ettt bt 0
LLBASIIIE .-ttt ettt b e (50)
Adjusted Parent Capital ..c.ooooooooooooooooooveeeeesies o] S 150
Deduct Parent Solo Capital Requirement .............. SRS RUTUPPRVRIUOTORUPO e 0
Resulting Group Wide Deficit ..o -150

Revised Holdco Balance Sheet

Assets

Liabilities

T ST IR LA

Participation in:
Banks 700
Insurance 0
Leasing

(50)
Total 650

Capital

As shown, the group has a solvency deficit of 150 under the risk-based deduction

method.

2. Financial conglomerate on a group wide basis is undercapitalized notwithstanding

that the regulated entities meet their own solo capital requirements.

o Why?
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— Excessive leverage in the group.

> Parent has downstreamed debt to its subs in the form of equity capital.

— Undercapitalized unregulated éntity in the group.

¢ Undercapitalization can be revealed by applying appropriate measurement
techniques for the assessment of capital adequacy at the group level.

3. Total deduction method not applicable where there is an unreguiated holding

company
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Exercise No. 5: Big Bank Case Study

Part 1: Prepare a consolidated 2004 balance sheet and income statement for Big Bank and its
subsidiary - Big Securities.

Part 2: Compute the analytical ratios shown in the exercise on a consolidated basis and
compare to the pre-computed unconsolidated ratios.

Part 3: Discuss amongst your group the ratios computed in Part 2. Answer the questions
listed below, and be prepared to discuss your questions with the rest of the class when the
class reconvenes.

Part 1- Consolidation

Please see Table 1 in the Exercise 5 Worksheet

This table shows the unconsolidated balance sheets and income statements of Big Bank and

. Big Securities in columns B and C. You must enter any adjusting entries necessary because

of consolidation into column D, which is entitled ‘Adjusting Entries.” Then, add columns B,
C, and D line-by-line to arrive at the consolidated figures in column E.

Adjusting entries will be required due to the following inter-company transactions:

(1) Big Bank loaned 1700 to Big Securities in early 2004 to purchase a portfolio of liquid
securities. o ‘

(2) Big Securities paid Big Bank 170 in interest on the loan during 2004.
(3) Big Bank invested 300 in the capital of Big Securities during 2004. (Big Securities used
this 300 of cash to purchase liquid securities, for a total of 2000 in liquid securities

purchased.)

(4) Big Securities paid rent of 50 for its premises to Big Bank during 2004.

"Part 2 - Analytical Ratios

Table 2 in the worksheet shows several financial performance ratios for Big Bank on a 'bank
only,' or unconsolidated, basis. Compute the same ratios based upon the consolidated
financial statements prepared in Part 1.
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Part 3 - Discussion and Analysis

Discuss the financial condition of the bank, comparing the 'bank only' and consolidated ratios.
Answer the following questions, and be prepared to discuss them'in class:

1. Is the bank's capital ratio stronger before or after consolidation? Why?

2. Does the bank appear to be more liquid before or after consolidation with the subsidiary?
Why?

3. What is the reason for the difference in the bank's net interest margin (ratio of net interest
income to total assets) on a bank only' and consolidated basis? Which net interest margin is
stronger (‘bank only' or consolidated)?

4. Does the bank appear to be more profitable or less profitable after consolidation? Why?

-~

5. Does the bank’s overall financial condition appear to be better or worse after
consolidation? Explain.

6. Which financial statements show a truer picture of the bank's performance, 'bank only' or
consolidated? Explain.
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Exercise 5: Big Bank Case Study

P,

Answer Key

Part 1 - Consolidation

The steps required to perform the consolidation, and the results of the consolidation, ase

shown in the attached spreadsheet (Table 1 - Answer Key). ,

Note:

+ Big Securities purchased 2000 of securities during 2004, the value of which declined to
1500 by the reporting date. The mark-to-market entry is shown in the income statement
of Big Securities on the line item “Securities gains (losses).”

« Big Securities’ year-end capital position (-140) already reflects the year’s net loss (-440)
because 2004 net income has already been “closed out” to capitai (300 —440 = -140).

Part 2 - Anaiytital Ratios

The computations for the consolidated ratios are also shown in the attached spreadsheet
(Table 2 - Answer Key).

Part 3 - Discussion and Analysis

-

1. Is the bank’s capital ratio stronger before or after consolidation? Why?

The capital ratio is much lower after consolidation — the bank goes from having a seemingly
adequate level of capital to being insolvent. This is because: '

e Consolidated capital decreased by 440, which is the amount of the subsidiary's 440 net
loss for the year. (The elimination of the bank’s 300 contribution to the subsidiary has no

net effect on consolidated capital).

Bank only capital 400 Big Securities initial capital 300 .
“+ Big Securities capital  -140 - Lessnetloss -440

- inv. in Big Sec =300 Year end 2004 capital -140
Cons. year-end capitat -40

« Total assets on a consolidated basis are lower than on a bank only basis --but not enough
o bring up the capital ratio. '



2. Does the bank appear te be more liquid before or after consolidation with the
subsidiary? Why?

The bank appears much more liquid after consolidation. This is due to:

s A 1510 increase in liguid assets caused by adding in the securities portfolio of the sub of
1500 and its cash of 10 (this explains the increase in the Liquid Assets/Total Assets ratio).

e The significant decrease in the loan book on a consolidated basis, caused by eliminating
the big loan of 1700 to the subszdzazy (this explains the large decline in the
Loans/Deposits ratio). .

3. What is the reason for the difference in the banl's net interest margin (ratio of net
interest income to total assets) on a 'bank only' and counselidated basis? Which net
interest margin is stronger ('hank only’ or consolidated)?

The NIM is much stronger on a consolidated basis than a bank only basis. The reasons for
this are: :

» A net increase in total interest income of 230, after eliminating 170 of interest paid to the

bank by the sub and adding in 400 from the sub's interest income earned on its securities -

portfolio.

¢ No change in interest expense after eliminating the sub’s interest paid fo the bank of 170.

Y

e A small decrease in total assets on a consolidated basis.

4. Does the bank appeaf to be more profitable or less profitable after consolidation?
Why?

The bank’s profitability ratio (ROA, or Net Income/Total Assets) is much worse afler the
consofidation, changing from a ‘bank only' net profit of 0.47% to a consolidated loss of -
10.74%. This is froma combmat:on of factors affecting the income statement:

The most significant factor is the 500 securities depreciation of the subsidiary.

Apparently the 2000 securities purchased with the bank’s money was not such a good .

invesiment! '

e ' The big increase in interest income explained in question 3 (interest income on the sub’s
securities portfolio).

»  No net change in profits from the reninl arrangement (income and expense are both
eliminated).

* [Inclusion of the sub’s non- mterest expense (probably salaries and the hke) and taxes of
20..

*  Looking only at the bottom line (net income), adding the sub’s 440 loss to the bank’s

profit of 20 (bank only) results in a loss of 420 — this is a big swing in the bank's earnings

performance before and after consofza’atwn

.
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5. Does the bank’s overall financial condition appear better or worse after
consolidation? Explain.

e The bank is much weaker in fact it fails its capital test. After consolidating
its subsidiary's loss the bank is insolvent.
- The bank now reports a loss versus a small net income on an unconsolidated

basis. :
s The loan book has decreased by more than 50%

6. Which financial statements show a truer picture of the bank’s i:)erforrnance,
‘bank only® or consolidated? Explain.

e The consolidated financial statements show a truer picture of the bank’s
performance because they show the total results for itself and the company

which it controls. .
o The board and management look poor versus looking alright before

consolidating the operating resulls.
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Exercise 5 - Answer Key

Table 1
Consolidated
8ig Bank Big Securities | Elimination . {B+C+D)
A B C D E

Balance Sheet

Cash 100 10 1o

Securities 500 1500 2000

Loans 3000 -1700 1300

Investment in Big Securities 300 -300 0

Fixed assets " 300 0 300

Other assets 100 100 200

TOTAL ASSETS 4300 1610 3910

Depasits 3500 3500

Loans payable 1700 -1700 o

Other liabilities 400 50 450

TOTAL LIABILITIES 3900 1750 3950

Capital 400 {140} . -300 -40
" TOTAL LIABILITIES & CAPITAL 4300 1610 3910

Income Statement

Interest income 600 400 -170 B30

Interest expense 450 170 : -170 450

NET INTEREST INCOME 150 230 380

Noninterest income 200 -50 150

Noninterest expense 250 150 -60 350

Securities gains flosses) (500) - 500

Provision for loan losses 60 60

Taxes 20 20 40

0
NET INCOME 20 {440) ~420
Table 2 - Analytical Ratios

Description Bank Cnly Consolfdated

Capital to Total Assets 400/4300 9.30% -40/3910 -1.02%

Liquid Assets to Total Assets -(100+500) / 4300 13.95% (110+2000}/ 3910 53.96%

Loans to Deposils © 3000/3500 85.71% 1300/3500 37.14%

Net Interest Income to Total Assets 150/4300 3.49% 380/3810 8.72%

Net Income to Total Assets 20/4300 0.47% -420/3940 -10.74%




